BEAW MOTION

24

22

FE | ES TR Fg WL
1 120AGO100A BMLL1I-#EE A1 1
2 120AG0200A BM111-HLAARZH A} 1
3 120AG0300A BM111-fRI B ZH 1 1
4 120AG0400A BM1T1-M5 B2 2 1
5 120AG0501A BM1 114 B 8 )8 1
6 120AG0502A BM111-58 £ 4 i 1
7 120AG0503B BM111-% 254K 1
8 120AG0505A BM111-347#5 45 1
9 120AG0506A BEAM MOTIONJibR (ff5: PANTONE 576C) 1
10 120320603C D303 e Pl -D30% f1 FH o Itk R Pl 58 B IR AL 2
11 110255AACBHE0090  [D30-F100 Fused Silica 1064nm X{(4%4% 4kW -P| 1
12 110255AAFBHE0089  |D30-F100 Fused Silica 1064nm 25 %% 4kW -P| 1
13 110255AACBHE0092  |D30-F125 Fused Silica 1064nm XUfu%:  4kW -P| 1
14 110255AAFBHE0091  |D30-F125 Fused Silica 1064nm 25 %% 4kW -P| 1
15 11021M2110051 T REH GEEEMD -
(29. 2%21%3. 55) mini B #3485 H] !

16 110255160005 {34745 7 -D24. 9%1. 5 QBH 1
17 211LCG0035 R385 Fr—CG 27. 9mm DIA x 4. lmm 1064nm 2
18 120403012A B {&Logo-RAYTOOLS 1
19 120304016C X-Y#5%Logo (5 : PANTONE 576C) 1
20 11021MA120066 OB P - T JIE#RR- A #£30X1. 8-HR70 1
21 11021MA3C20267 0% P - 5UM5 - A 235X 1. 5-HR70 2
22 11026AA13960146 |1 Fk (Uisk) BRET/IB4E-M3X6, PEEE 12.92%¢| 2
23 11026AAA13910270 | 7S AT S MRAT /Bke-M4X10, HE4R 12. 94 4
24 11026AAA13910194 | 7S 1 AT S MRAT /8 A -MAX22-FE 4112, 9%% 4
25 11026AAA139T0090 | 7S Fi AT S RAT /B ke -M4X35, 4R 12. 94 4
26 11026AAA139M0100 |9 /S M [l AE Sk U8 ET /4848 -M6X20, HE4R 12. 94K 4
27 1104A020001 BT/ dn s 1 1

DRAWN ZZL 2017/12/21

CHECKED

REVIEWED

VIEW ORIENTATION —{]— —@%—

PART NAME WEIGHT (kg)

BMI 110 D11 3k-QBH-100-125-30VYH | '

BMH111001A

5.38

MATERIAL

SIZE A3 |SCALE| 1:4 SHEET

1/1




